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A woman sold her earphone for 2,000 and got a percentage profit equal to the

numerical value of cost price. The cost price of the earphone is:

Tk WA 3TUAT SIEI 2,000 H ST 3R AT Hed oh HEATH R o oh atlay
TfaeTa eTe ITH foRaT| IR ST AWT Wed §:( SSC CHSL 2021)

(a) 500 (b) 200 (¢) 600 (d) 400




The difference between the cost price and selling price of a pair of shoes is Rs.
1,200. If the profit is 15%, the selling price is:

T SIS A o ol e ST forshar Wo o ofie T i 1,200 $U 71 afs &
15% g, At forshar 0o &:

a) Rs. 8,200 (b) Rs. 9,200 (c) Rs. 8,000 (d) Rs. 9,000

(SSC CGL PRE 2022)




When an article is sold for 720 rupees, there is a profit of x%. When the same artlcls
sold for 750 rupees, profit is (x+5)%. What is the value of is the value of x?

TS Uk &G ST 720 U T ST AT@T &, AT x% T AT FAT g1 T 36T oq hl 750 TaA |
AT ATAT &, A ATH (X+5)% TIAT gl T HI T 8 x T AT FIT 82

(a) 20 (b) 18 (¢) 25 (d) 15
( SSC CHSL 2019)




What will be the actual profit percentage (rounded off to nearest integer) after selhngan

article at a certain price, while there occurs a loss of 45% on selling the article at 3/8 of

the selling price?

T I oh! Uk AT Hed W a9 & d18 IR iaeh ot TTa9rd (FHereda® qutis Tk
qUTT{Sher) T BT, SaTfeh S ohl forshl Hed & 3/8 WX S U 45% <hT 3T gielt 22
A)17% B)37% ¢)47% d)27%

( SSC CHSL 2019)




An article is sold at a certain price. If it is sold at 80% of this price, then there will be a

loss of 10%. What is the percentage profit when the article is sold at the original selling

price?

Teh ] Ueh (T2 Hed W) =it AT 81 A1 38 360 Hed & 80% U =T AT &, T 10% <h
T BT et forsha 7o WX e hl SeH O T STa9Td oIt 22
(a) 12.5 (b) 15 () 12 (d) 15.5

( CGL MAINS 2018)




If the cost price of 235 articles is equal to the selling price of 35 articles find the proﬁt/loss

percentage.

qfg 25 TEIIT T SHT Tod 35 TEGAT o (kT Tod & TS g a1 ATH/ZTH Tiaora [T
hHifeT)

(a) Loss/BT 28.57 % (b) Profit/aTH 28.57 % (c) Loss/2Tt18.93 % (d) Profit/aT®18.93
%

( SSC CHSL 2019)




A retailer purchased at a rate of 11 mangoes for Rs.100 and sold at a rate of '

10 mangoes for Rs.110. The percentage of profit for per mango sold is:

T TRt farshal 3 11 310 &Y A 100 I § @HST 37K 10 T8 R A 110
A § A= faam afer S1TH = S O’ T R afaeTd 2
@ 11%  (1)22%  (©)21%  (d) 15.5%]




y MISSION SSC 2023 /BTN T IIVG

Anil bought some articles at 6 for Rs 8 and sold them at 10 for Rs 12. His
percentage loss or gain is: (CHSL 2019)

AT T B TIU 8 TUA U 65U H THIST AR Iwg 10 TUA W 12 T0 0 o= {em)
IGRT UTA9Td T AT ATH B:
(a) 10% loss (b) 8% loss (¢) 10% gain (d) 8% gainl

10




A sold an article to B at a profit of 25%. B sold it to C at a profit of 15%. The profit
made by B is Rs.40 less than the profit made by A. What is the cost price (in Rs.) of the

article for A?

A T B T 25% o TTH U Uk & Jitl B 4 39 C &l 15% o AT W a9 54T B 3R fera

AT ATH A ZRT FohT T AT | 40 T4 HH 2| A & {10 T ST 0T Hed (T H) T 82
(2)546 (b)400 (c)640 (d)240f

11




A person sold an article at a loss of 19%. Had he sold it for ¥ 660 more, he would hae
gained 5%. If the article is sold at ¥ 3,080, then how much profit percentage is gained?
Tk ATk A Teh T ohl 19% <hl BT T T TTS I8 38 T 660 FFereh | =T 34w, a1 39
5% ThT SITH 2Tl TS o6 1 T 3,080 H e STaT 8, At foherat aret it wme e 22
(CPO 2019)

(2) 10% (b) 15% (¢) 16% (d) 12%|

12




On selling 26 balls for 1,350 rupees, there is a loss equal to the cost price of eight balls

The cost price of a ball is:
26 TST AT 1,350 U W A UR TS QT oh vl Hod o ST BT SidT gl Teh 1S ST AT
(a) 70 (b) 65 (¢) 60 (d) 75|

13




By selling two articles for 800, a person gains the cost price of three articles. The proﬁt

percent is:

I TEGST T T800 H I WX, Teh SAT<h hl A AT oh shT Hod hHT AATH BT gl TR

Elﬁl'S'I?f%:
(a) 125 (b) 120 (¢) 150 (d) 140 CGL MAINS 2018|

14




ShOpkeeper bought 120 quintals of wheat. 20% of it was sold at 25% loss. At

percent gain should he sell the rest to gain 25% on the whole transaction?

Teh JoRTHER 7 120 foreieet 71 THIaT SHeRT 20%, 25% BT O o= 41 9 e W 25%
TTH ITH h¥ o {10 30 9 ot foha Ifaerd @1 U ST S1ieu?
(2)40 ORE (¢) 37.5 (d)36.5 CGL MAINS 2018|

()




Kapil sells a mobile to Sachin at a gain of 15% and Sachin again sells it to Rohit at

profit of 12%. If Rohit pays Rs.322, what is the cost price of the mobile for Kapil?

HIUA 15% & TTH W AT T Tk WIS el 8 TR A= 38 TR a Afga i 12% &
AT TR AT 2 TS AT 322 FUX T AT AT &, AT Sh{UST o 10 ST T ATTA
T ST 82

(a) Rs. 350 (b) Rs. 450 (c) Rs. 250 (d) Rs. 325

CGL PRE 2022|

16




A sells a good to B at a profit of 20% and B sells it to C at a profit of 25%. If C pays Rs

225 for it, what was the cost price for A?

A TorET %7 T B T 20% TH O I=aT § 3R B 36 C &l 25% @9 W =T § 915 C 36
ET I 225 A W THGAT 3 41 A SR 3 Forer Shra o Tier mam?
1- 100 2-150  3-180 4- 200

17




y MISSION SSC 2023 /BTN L. LIV

If selling price of an article is c times of its cost price, the profit percent on it is:

8 -
afg feret e T for.a. S8eh @ e E‘;Nﬂ%,ﬁtlﬁ‘:ﬁrm ST R
1)40% 2)60% 3)75% 4) 50%

18
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If selling price of an article is c times of its cost price, the profit percent on it is:

8 -
afg feret e T for.a. S8eh @ e E‘;Nﬂ%,ﬁtlﬁ‘:ﬁrm ST R
1)40% 2)60% 3)75% 4) 50%
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A man bought a bike for Rs.30000 and spend Rs.2500 more on upgrading it at what

price should he sell the bike in order to earn a profit of 20%?

Ueh s51<h 9 30000 TUT H dTgeh TWRIET 3TN 2500 TYU 3H Id ohid U &= {hdT, a1k ohl
TohT FEd U ST SATU ATTeh 20% ohl TITH ST &l 2

1. 36000 2. 37500 3. 38500 4.39000




y MISSION SSC 2023 /BTN L. LIV

If the ratio of cost price to selling price is 10 : 11, then the rate of percent of profit is:

Afe oIRTe Aot o farshY o ot orquTa 10 : 11 7, & & 3t Tfota oX s gt 2

(A) 0.1% (B) 1% (O)1.1% (D) 10%
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On selling an article for 960 Rs , Seller obtained a profit which is
equal to the loss when article is sold for 520 Rs . Find the profit %

when this article is sold for rs. 1110? .

T T 960 TUA H I UY, TshdT shit &TTH UTH BIAT 3 ST foh TohET o SeR
3 S TEq T 520 TUX T AT AT R W g T 1110 &, § it vt &

AT % [T HITT0)
A)72 B)78 C) 60 D) 50




y MISSION SSC 2023 /BTN L. LIV

On selling an article for 960 Rs , Seller obtained a profit which is
equal to the loss when article is sold for 520 Rs . Find the profit %

when this article is sold for rs. 1110? .

T T 960 TUA H I UY, TshdT shit &TTH UTH BIAT 3 ST foh TohET o SeR
3 S TEq T 520 TUX T AT AT R W g T 1110 &, § it vt &

AT % [T HITT0)
A)72 B)78 C) 60 D) 50




Romi earns a profit of 20% on selling an article at a certain price. If she sells the
articles for X 8 more, she will gain 30%. What is the original cost price of 16

such articles?

AT Teh AT T W T I& I W 20% PN 1 AT &l Il
ag 8 T AH¥P A g dudr &, A 3H 30% oAH AT 16 TH aE]
hl el oIITd T &7

(a) X 1,280 (b) X 1,152 (c) %1,120 (d) % 1,200

24
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If books bought at price from Rs. 150 to Rs. 300 are sold at prices ranging from Rs. 250

to Rs. 350. What is the greatest possible profit that can made in selling 15 books?

150 & ¥ 300 % ok STl o Yot WX fehdrel TRIET AT 2 3R 250 T € 350 T o sl o Todl W
378 AT ATAT E, AT 15 FoRarat o S=m uR STfrerd s T T 2IT?
1)2000 2)2500 3)3000 4)2500

25







